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Ratio to Powheg+Pythia8 (dipole)

do/dpt 1 [pb/GeV]

1.20

1.15F

1.10

1.05

1.00

0.95

0.90

1.20

1.15

1.10

1.05

1.00

0.95

0.90

103 frm— ——NLO
: —— NNLO
NLOPS
matching&PS scheme
|
—— NLO
— —— NNLO
NLOPS
matching&PS scheme
. —
=
LSS 1
| |
Powheg+Pythia8 (dipole)
B Powheg+Pythia (Vincia) -
—— Powheg+Herwig (AO)
i —— Herwig (AO) -
B —— Herwig (dipole)
—— Madgraph+Herwig (AO) -
N —— Sherpa (dipole)
Sherpa (dire) |
|
—
— | l
| | | | | | |
0 100 200 300 400 500 600 700

10_4§

10_5§

VS =13TeV

pp — H + 2j (VBF only)

pr.n [GeV]

800



